



## Your Own Personalized Website Where You Keep 100% Of The Profits



### Why Us? -





### **Advertising**

You Get Quality Advertising At An Affordable Price To Showcase Your Other Offers



#### **Low Cost**

\$10 One Time Fee To Have Your Website Created And Lifetime Hosting Covered Plus Referral Materials.



#### **Network Team Building**

Simple Solid System To Help Promote Team Unity And Prosperity For All.



Website Fee(WF) Is Paid In First Tier Activation. It Is Paid To Admin For Cost Of Site **Upkeep And** Lifetime Hosting. 100% Of All Other Fees Are Paid To **Upline Salesmen** 

	Earning Banks	Cost	Who Receives \$	Admin Website Fee		
	Tier 1	\$5 + WF	Direct Sponsor	WF - \$10		
	Tier 2	\$10	Upline 1			
	Tier 3	\$25	Upline 2			
	Tier 4	\$50	Upline 3			
	Tier 5	\$100	Upline 4			
	Tier 6	\$500	Upline 5			
	Tier 7	\$1000	Upline 6			
	Tier 8	\$5000	Upline 7			
	Tier 9	\$10000	Upline 8			
	Tier 10	\$25000	Upline 9			
	TOTAL FOR ALL	\$41690	+ Website Fee	\$41700		





# HOW CRAZY CASH COW WORKS





Once your registration is completed you will have unlocked your Earning Bank Tier 1. You can then unlock as many tiers as you like but in numerical order. Once unlocked you will receive financial literacy eBooks on how to better your online money-making experience and advertising credits as well as be able to earn 100% commissions when your site makes a Tier sale. (Ex. If one of your network 2<sup>nd</sup> tier downline members unlocks their Tier 2, you will collect 100% of that money). This continues down 10 levels of all the levels you unlocked.

Earning Banks	Unlock Cost Commissions	Referrals	Earnings	
Tier 1	\$5	3	\$15	
Tier 2	\$10	9	\$90	
Tier 3	\$25	27	\$675	
Tier 4	\$50	81	\$4,050	
Tier 5	\$100	243	\$24,300	
Tier 6	\$500	729	\$364,500	
Tier 7	\$1000	2187	\$2,187,000	
Tier 8	\$5000	6561	\$32,805,000	
Tier 9	\$10000	19683	\$196,830,000	
Tier 10	\$25000	59049	\$1,476,225,000	
Total	\$41,690	88572	\$1,708,440,630	

**Disclaimer:** The Income represented above is for illustration purposes only. Crazy Cash Cow members and staff make no claims that you will earn this money or any money at all. The results will vary from each individual depending on their marketing expertise and experience.



## The Gold highlight Shows What Tier And Level You Are Physically Collecting Money To Your Wallets.



	Level 1	Level 2	Level 3	Level 4	Level 5	Level 6	Level 7	Level 8	Level 9	Level 10
# of Payments	3	9	27	81	243	729	2187	6561	19683	59049
Tier 1	\$5									
Tier 2		\$10								
Tier 3			\$25							
Tier 4				\$50						
Tier 5					\$100					
Tier 6						\$500				
Tier 7							\$1000			
Tier 8								\$5000		
Tier 9									\$10000	
Tier 10										\$25000



### HOW TO MAKE CRAZY CASH COW YOUR SUCCESS STORY



Crazy Cash Cow could be one of the easiest sites for you to build an active network of marketers who are all like minded. The easiest way to have success is not to try and cheat the system. Referring friends and family members who will not do their part to marketer their own site will quickly halt your progress in growth.

You mainly focus on building with people who all want the same success as you do. You do not have to go out and find an army of people. If you refer 3 strong affiliates first than they will be the catalyst to help you achieve the most income, you probably ever made. But trying to set yourself up for success by including those who will not help will only set yourself up to fail.

#### **ADVERTISING:**

The strength of your marketing experience will come from how you utilize your advertising on this site and many others. Make sure to put your downline builder and other marketing materials to good use. We will send out suggestions as well as other free materials to assist in you gaining knowledge for your success in our business.

Remember This Is YOUR Website! Put In The Work For YOU To Be Rewarded!

Grow Your Income With

